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Solving Sequence

Y

A knot d1agranl

2

)

Cr Co Cg C1 C3 Cog Cg Cs
Ideals for irreducible component#ﬂ)f Xpar

I =" 4w 4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 37 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIP=@"4+u*®+..- —u—1)

(i) Arc colorings

w- (1)

a7 =
ag =
az =

ag = (
U
ay = u
5
(&
w't — Tul? + 1600 — 11ud — 208 — 22 + 1
ut — 8u'? + 23u!0 — 2848 + 1448 — 6u* + 3u?
—ub +3ut —2u2 +1
—u® 4+ 4ub — 4yt
—u30 + 193t + - — By + 1
—u30 + 2003t + - - 4 46uS — 13ut
(—u15 + 8ul'® — 244!t 4 34u® — 2607 + 14u® — 4ud + 2u>

—ul7 4+ 9415 — 3103 4+ 50ul! — 37w 4+ 1207 — 4ud + u

—ut® 4 8ul? — 244 + 34u° — 2607 + 14u® — 4u® + 2u
a11 = \ —17 4+ 9% — 31413 + 500t — 3700 + 1207 — 4u® + u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?* + 76u3? — 640u®" + 4u2% + 3140u?® — 64u>" — 993612 +
444u%® + 21272u* — 1744u?3 — 31696u?? + 4260u! + 33924120 — 6752u'® — 27600u'® +
7232ut” + 18308ul® — 5760u'® — 9996u'? + 3932ul3 + 4396u'? — 2240utt — 172000 +
976u” + 536u® — 448u” — 124u 4 140u° + 24u* — 36u® + 20u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C
e T T+ —u— 1
Cs
c3,Cp W T
C4,Cs5, C10 Wu 4+ —3u—1
Cg,C11 W —3u—2




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C7 y37_41y36_~_._.+11y_1
cs
cs, Cg T 19y%5 - 4+ 239y — 49
C4, C5, C10 y37+31y36+--~+11y—1
C9, C11 y37—21y36+--~+41y—4




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y=1CS)

Cusp shape

u = 0.602666 4 0.5663561

3.41113 — 9.037491

—9.15046 + 8.293551

u = 0.602666 — 0.5663561

3.41113 + 9.037491

—9.15046 — 8.293551

u = —0.801510 4 0.1008641

—0.75596 + 3.775931

—14.9240 — 4.34191

u = —0.801510 — 0.1008641

—0.75596 — 3.775931

—14.9240 + 4.34191

u = —0.601221 4 0.5357431

—1.30987 + 5.109791

—14.0141 — 6.96251

u = —0.601221 — 0.5357431

—1.30987 — 5.109791

—14.0141 + 6.96251

u= 0.798272

—4.65627

—19.8710

u = —0.487866 + 0.5830351

7.89022 + 1.993971

—4.51029 — 3.609081

u = —0.487866 — 0.5830351

7.89022 — 1.993971

—4.51029 + 3.609081

u = 0.593447 4 0.4682501

1.51106 — 1.302991

—11.08606 + 3.417791

u = 0.593447 — 0.4682501

1.51106 + 1.302991

—11.08606 — 3.417791

u=0.349527 4 0.5993961

4.15088 + 5.055821

—6.99986 — 2.204931

u=0.349527 — 0.5993961

4.15088 — 5.055821

—6.99986 + 2.204931

u= 0.475022 4 0.4783061

1.72361 — 1.674691

—8.06184 + 5.202561

u= 0.475022 —0.4783061

1.72361 + 1.674691

—8.06184 — 5.202561

u = —0.330514 + 0.5504651

—0.53120 — 1.355991

—11.83231 4 0.621651

u = —0.330514 — 0.5504651

—0.53120 + 1.355991

—11.83231 — 0.621651

u = —1.43981 + 0.101881

—1.46648 — 2.682821

—10.45967 4 0.1

u = —1.43981 — 0.101881

—1.46648 + 2.682821 | —10.45967 + 0.1

u = 0.202017 4 0.4758501 2.54473 — 1.902831 —7.07864 + 3.497081
u = 0.202017 — 0.4758501 2.54473 + 1.902831 —7.07864 — 3.497081

u= 1.48943 + 0.079571 —6.30817 — 0.501437 | —15.7929 4 0.1

u= 148943 — 0.079571 —6.30817 4+ 0.501437 | —15.7929 4 0.1

U 1.51213 + 0.161851 1.30989 — 4.632341 0

u= 1.51213 —0.161857 1.30989 + 4.632341 0

u = —1.52555 4+ 0.122171 —4.95014 + 3.747411 0

u = —1.52555 — 0.122171 —4.95014 — 3.747411 0

u = —1.56321 + 0.139971 —5.73875 + 3.536791 0

u = —1.56321 — 0.139971 —5.73875 — 3.536791 0

u = 1.56555+ 0.158921 —8.57063 — 7.648501 0




Solutions to I V—=1(vol +/—=1CS) Cusp shape
u = 1.56555 — 0.158921 —8.57063 4 7.648501 0
u = —1.56495 4 0.170251 —3.83357 4+ 11.733801 0
u = —1.56495 — 0.170251 —3.83357 — 11.733801 0
u = —1.60055 —12.7836 0
u = 1.60063 4 0.018297 —8.89081 — 4.154521 0
u = 1.60063 — 0.018291 —8.89081 + 4.154521 0
u = —0.349317 —0.504726 —19.7380




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,C2,C
1,C2,C7 BT 1
cs8
€3,C6 T (T I T
C4,C5, C10 U37+U36+"’*3U71
Cg,C11 U37*U36+"‘*3U72




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C2,C7 T =41y 11y — 1
cs8
es, C Y37+ 19y% + -+ 239y — 49
C4, C5, C10 31y 1y — 1
Cg, C11 y37721y3°++41y74




